MATH 244/GRACEY
5.4 PRACTICE

Give the coordinates of the point described on the unit
circle.

1) The reflection of the point [— %, %] across the

X-axis

2) The reflection of the point [%, - %] across the

y-axis

3) The reflection of the point [— %, %] across the

origin

Find the function value using coordinates of points on the
unit circle.
-2m

4) si
) sin 3

Name,

-7m

5) sin

7) cos 21

T
8) cos—?

-5m

9) cos



Use a calculator to find a decimal approximation for the
indicated function value. Round your answer to four
decimal places.

67
10) sin —
) sin 5

11) sin (-3.30)

12) sec2

13) cot5.79

List the quadrants in which the function has the given
sign.

14) sine is positive

15) cosine is positive

16) secant is negative

17) cotangent is positive

Determine the domain and range of the function.

18) y = cos?x

19) y=Isinx| -1

20) y = sin2x - 2



1
2Dy= COS X 24)

allle
i

Find two real numbers between -2m and 27t that determine
the point on the unit circle.

22)
ZX(\,&; b Multiply and simplify.
&K )(\72 25) (cos x - sin x)2
26) cot x (sin x - sec x)
23)

)??Z 27) sec x (cot x + sin x)

28) (1 - cot 0)2

-



29) (1 - cos x)(1 + cos x)

30) sin O (sec O tan O + csc O + cot 0)

Factor and simplify.
31) 1 - 2 sin2x + sinx

sin2x - 1
sinx+ 1

33) sectx - 2 sec2x tan2x + tan4x

34) 1 - sin3x

35) tan#x - secx

Simplify the expression.
3 .

36) 14 cos® x sin x

7 sin2 x cos X

cos2 X + 6 cos x +9

37
) cos X+ 3

9sind cos? d - cos Psin
cos? (o) cos? ¢ - sin? (o)

38)

39) 3 5

+ .
cos2 x —sin2 x  COS X + sin x



Simplify. Assume that all radicands are nonnegative.

40) Afsin x cos X + Afsin x

41) '\/ cos2 x sin x « sin x

42) (1 -Aftan B) (1 +ftan )

Simplify.
. . . cos
43) Rationalize the denominator. - X
sin x
. . . si
44) Rationalize the denominator. nx
cot x

1+siny

45) Rationalize the denominator. -
1-siny

in2
46) Rationalize the denominator. Sme X
2 cos2 x

1-sina

47) Rationalize the denominator. -
l+sina

Assume that 0 < 0 < m/2. Find an expression for the
indicated trigonometric function.

48) Let x =5 sin 0 inA/25 - x2. Find cos 0.

49) Let x = 4 sec 0 inA/x2 - 16. Find tan 6.



Answer Key
Testname: 5.4PRAC

1) |-

2) |-

10) -

11)

12) -

13) -

14) I,

15) 1,

16) II, III

17) L,

18) Domain: (-=, «); range: [0, 1]

19) Domain: (-«, «); range: [-1, 0]
)
)

20) Domain: (-», =); range: [-2, -1]

21) Domain: {x | x:t% +km, ke Z};

range: (-%- -1 u[l, =)
mn =5m

3" 3

. -31

23) =~ 2%

3) 55

3n -5n

47 4

22)

24)

25
26
27

)
)
)
28) csc2 0 - 2 cot O
29) sin2x
)
)
) si
)
) (1

1 - 2 sin x cos x
COS X — CSC X
csc x + tan x

30) sec2 O + cos O

35) -2 tan2x - 1
36) 2 cos x cot x
37) cosx+3

38) 9sin¢

(cos P)«(cos ¢ + sin ¢)

-5sinx+5cosx+3

39)
cos? x - sin2 x

40) sin x f\/cos X
41) sin x cos x'\/sin X

42) 1-tan
1) «/c0§ X sin X
sin x
44) A/ cos x
cot x
cosy
1-siny

46) f\/ztzanx

45)

Ccos &
1+sina

18) «/25 -x2

5

19) '\/xz -16

4

47)



